














•

•

•

•

•







A. Pay £2 per visit for access to the coastal area. 
The coastal areas would have a high level of 
repair and restoration, all the cultural benefits 
will be provided to a higher level than they were 
before the tidal surge. 

B. Pay £1 per visit for access to the coastal area.   
The coastal areas would be restored to the 
standard it was before the tidal surge, all the 
cultural benefits will be provided to the same 
level as they were before the tidal surge.

C. Pay nothing per visit for access to the coastal 
area. The coastal areas would have no additional 
restoration or maintenance. It is unknown how 
the coastal areas would develop naturally, but it 
is likely that the cultural benefits would be 
provided at a lower level than before the tidal 
surge. 
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